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T Mwn: ¥"’s question of »*11 3" in Emmaus
a  If: how many mron is he liable for n&’a with his sister, his paternal aunt and his maternal aunt
i Clarification (X192): it was 1 — var mink who is 1R mny (else the response, below, doesn’t speak to the question)
b 177721 (response from less obvious case) if he had nxa with 5 wives mT in one nYyn — 5 mron; 1"p to this case
iy if nm, which is one nw, has multiple n»ayn, then certainly this case, with multiple mnw has multiple n’ayn
1 Challenge: in the source case, they are separate bodies
2 Rather: end of v. 2 establishes separate liability for a8 ninR/1ar mnr/AMNR
ii ~ Setup (87an7): requires 2 generations of myw1 — X had nk»a with mother, had 2 daughters (who are also ymny), he
then had nx»a with one of them and had a son who then had nx>a with 1m& ninR, who is ymnx and »axr MR
T:X MN2 RNaon — if he had multiple mx»a with same N1y — within one noyn
a 5w 1. liable for each nxa
b oo liable one for all mxa
i However: n'non agree with 8™ in case of 5 wives, all mT, since he causes each of them to bring their own nxon
1 Challenge (X¥27): we don’t apply this principle, per n:xX mn»> RnavIn:
(a) If: hehad 5 mxva with N NWR, he: 1 0YYn; she: 5 Mnoyn; he is liable for 1 and she is liable for each
2 Rather: reason is that they are ppomin pan
ii  Question: how would 8" rule about multiple acts of harvesting on naw (nnx oYyna)?
1 Lemmal: he rules for multiple non because there were two acts =»same here (2 nron)
2 Lemma2: he rules for multiple mxvn because the two acts could not overlap =»untrue here (1 nxon)
3 737 first approach — 8™ would find for multiple liabilities here as well
(a) Challenge (»ax): ®™ finds liability for ar Dipna N5 Dif it was a repeat of the ar, exempt
defense: if he cut fig tree while pruning grape vine hanging over it (179 1n+1R)
(i) Dbut: if he just cut lots of wheat in one cut — only 1 nxvn (if 2 separate cuts — 2 mron)
4 9op 7.2 approach — 8" would limit liability here to one nxron
n mwn: "7’s next question — what is the status of a hanging limb from an animal
a  ywir "1 (response from less obvious case): hanging limb off a person is (still) v
b Support: practice of nw »n; limb nailed to door then they would walk away - doctor and patient D10V for nos; 1 here
¢ 71:8 prwip: if someone squeezes rain water out of cabbage or his hair or clothes;liquids inside are not inv "2
i However: liquids that emerge are jn »2
ii S8 the cabbage itself is 721 (11 723-waters were 1"Wan at point of egress)
1 Challenge: our mwn — Pnw N2n’s limb should be xnvn due to 'nn 11 9ax
2 Answer (901 7). if he separated in one clean shot
(a) Original context: re: rainwater on nn 8nVY a1 that squeeze each other’s clothes out — not xnvn clothes
v Mwn: Y"’s next question; multiple acts of yin NVNY or eating from 5 M Mmar
a  Versionl: y"1's question — multiple acts of n"mwv
i ywir "1 (response from less obvious case): eating from 1 nar from 5 different bowls — multiple n%yn »21n; 1" here
b Version2 (©”7): ¥"1's question — eating 9nm from 5 different n'nar (v" bothered by response from n%ax [nRin] to nYNY)
iy "1 (response from less obvious case): eating from 1 nar from 5 different bowls — multiple nyn »21n; v"p here
ii w7z n%yn is more severe (MnN::NINI; 2IRN::9IIR) — can’t apply here
1 Question: did »win> "1 concede the point to y”1?
2 Answer: R:T mn»d RNaon — if he ate 5 pieces of 9m from 1 129p — 27N per Mmndyn (MYn DwR follows nronN number)
(a) But if: 5 different n'nar — liable for each (T 92 *0v "1 - only liable for 1)
(b) But: 5 pieces in 5 bowls — even from 1 nar (if eaten before 77n71) — liable for 5 m%wn
(c) omission: no mention of nYn DWR for nY»Yn pav; this is contra y™ [1:n] Pauthored by ywin "1
(i) and: requirement of multiple mm5yn for multiple mrvn indicates he accepted »"7’s argument
(if) counter: 5 ©nar, even nnR wYyna — liable for 5; indicates he rejected y™’s argument
(iii) rather: authored by Ran who accepted »" re: single nkon but not for m%»n pav Y "on DWR
3 note: distinct " nnn could be 5 parts of Ny (all count for yin); 5 limbs, even 5 parts of limb (e.g. shoulder), 5
types of preparation or five types of seasoning
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